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QUESTION 1

MCU operation of H.323 Videoconferencing over IP is defined as which two components?
A. Network Controller and Multipoint Controller

B. Multipoint Controller and Multipoint Processor

C. Multipoint Processor and Video Controller

D. Audio and Video Controller

E. All of the above

Correct Answer: B

QUESTION 2

Which of the following most accurately defines white balance?

A. The amount of white pixels that appear in a video frame

B. A feature that eliminates noises distributed uniformly over the frequency spectrum

C. A feature that splits the signal between the red, green, and blue components to make white

D. A feature that adjusts the signal between the red, green, and blue components that yield white video signals.

Correct Answer: D

QUESTION 3

During a H.323 Videoconference, what is the correct bandwidth used by the G.711 and G.722 audio algorithms in a
256K conference call?

A. 30,000 bits per second
B. 40,000 bits per second
C. 128,000 bits per second
D. 64,000 bits per second

Correct Answer: D

QUESTION 4

How many frames per second make up a NTSC and PAL video signal?
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A. NTSC 20
B. NTSC 25
C. NTSC 30
D. PAL 25
E. PAL 30

Correct Answer: CD

QUESTION 5
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IP addressing Version 6 uses how many octets?

A. 12
B. 40
C.4

D. 32
E. 16

Correct Answer: E
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